Name: -\rAr\.f;;uer Ke,u .
U

Date:

Group:
Congruent triangles
For each case, identify the geometric statement which allows you to state that the
two triangles are congruent.
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n Among the following pairs of triangles, identify which are congruent.
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In the adjacent illustration, ABC is an isosceles triangle and AH is the bisector of
angle BAC. Complete the following proof so that it is possible to conclude that

triangles ABH and ACH are congruent.

Hypotheses: | Triangle ABC is isosceles.

a)

AR is the bsecror of “BAC
4

Conclusion: | Triangles ABH and ACH are congruent.

STATEMENT JUSTIFICATION
LB=2C b) Angles ocppeste ¢ ongrent sides of an soscele
Aﬂg\g ‘ *‘rw{m‘vg\@? are ('Q“rn%ftké’f\%?‘ )
A—g t%;,ﬁ By hypothesis, triangle ABC is isosceles.
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